
CHEMISTRY

BOOKS - PREMIERS PUBLISHERS

HYDROXY COMPOUNDS AND ETHERS

Evaluate Yourself

1. Classify the following alcohols as  and  and give

their IUPAC names 

(A)  


(B)  


1∘ , 2∘ 3∘

CH3 − CH3 − CH(OH)CH2 −

Br

∣

C(CH3)2

(C2H5)3OH

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dmPV8Cq368lo


( C)  


(D) 

View Text Solution

CH2 = C(Cl) − CH(OH)CH3

2. Write all the the possible isomers of an alcohol having

the molecular formula  and give their IUPAC

names.

View Text Solution

C3CH12O

https://dl.doubtnut.com/l/_dmPV8Cq368lo
https://dl.doubtnut.com/l/_zhYmYIcJ4b0Q


3. Suggest a suitable cabonyl compound for the

preparation of pent-2-en-1-ol using 

View Text Solution

LiAlH4

4. 2-menthylporpen -1- ene 

View Text Solution

H2SO4 /H2O

−−−−−−−→ ?

5. How will you prepare the following using Grignard

reagent. 

(i) t-butyl alcohol, 

(ii) allyl alcohol

View Text Solution

https://dl.doubtnut.com/l/_kyjPZSrMWwhm
https://dl.doubtnut.com/l/_2ocQbi0bJKnR
https://dl.doubtnut.com/l/_qviBkflnIFnX


6. Identify the produce in the following reactions. Write

their IUPAC name and mention the mechanism involved in

the reacitons. 

cyclopentanol  


butan-1-ol ? 


neopently alchol 

View Text Solution

H2SO4

−−−→
Δ

?

NaBr
−−−→
H2SO4

PCl5
−−→

7. What is the major product obtained when 2,3 dimethyl

pentan-3-ol is heated in the presence of 

View Text Solution

H2SO4

https://dl.doubtnut.com/l/_qviBkflnIFnX
https://dl.doubtnut.com/l/_Mn9Qv6dEF6Xv
https://dl.doubtnut.com/l/_OMTQLEoguYsw
https://dl.doubtnut.com/l/_Z4cv4ZPGU3AG


8. Which of the following set of reactants will give 1-

methorxy -4- nitrobenzene, 

View Text Solution

9. What happens when m - cresol is treated with acidic

solution of sodium dichromate ?

View Text Solution

10. When phinol is treated with propan-2- ol in the presence

of Hf, Feirde-Craft reacion takes place. Identify the prodcuts.

View Text Solution

https://dl.doubtnut.com/l/_Z4cv4ZPGU3AG
https://dl.doubtnut.com/l/_B592SqFLhlWb
https://dl.doubtnut.com/l/_bugwiCFF3o2C


11. Arrange the following compounds in the increasing

order of their acid strength. Propan-1-ol,2,4,5,6-

trinitrophenol 3-nitrophenol,3,5-dinitrophenol,phenol,4-

methylphenol.

View Text Solution

12. 1 mole of HI is allowed to react with t-butyl mehtylether.

Identify the product and write down the mechanism of the

reaction. 

View Text Solution

CH3 −

CH3

∣

C
∣

CH3

− O − CH3 + HI → CH3 −

CH3

∣

C
∣

CH3

− OH + CH3I

https://dl.doubtnut.com/l/_bugwiCFF3o2C
https://dl.doubtnut.com/l/_zVtzO4clklFX
https://dl.doubtnut.com/l/_aSlklM2q81oF


Evaluation Textbook Questions Answers Choose The Correct

Answer

1. Isopropyl benzene on air oxidation inn the presence of

dilute acid gives:

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C6H5COOH

C6H5COCH3

C6H5COC6H5

C6H5 − OH

https://dl.doubtnut.com/l/_ULRFuKf9qqFi


2. Assertion: Phenol is more reactive than benzene towords

electrophilic substitution reaction. 

Reason: In the case of phenol, the intermediate aeninum

ion is more stabilized by resonance.

A. if both assertion and reason are true and reason is

the correct explanation of assertion.

B. if both assertion and reason are true but reason is

not the correct explanation of assertion.

C. assertion is true but reason is false.

D. both assertion and reason are false.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_6rGw6DIhkqUw


3.  on heating with periodie acid gives.

A. methanoic acid

B. Glyoxal

C. methanol

D. 

Answer: C

View Text Solution

HOCH2CH2 − OH

CO2

4. Which of the following compounds can be used as

artifreeze in automobile radiators?

https://dl.doubtnut.com/l/_6rGw6DIhkqUw
https://dl.doubtnut.com/l/_3sEaLRqFcMZi
https://dl.doubtnut.com/l/_YQxZamn2IkUL


A. methanol

B. ethanol

C. Neopentyl alcohol

D. ethan-1,2-diol

Answer: D

View Text Solution

5. One mole of an organic compound (A) with the formula

 reacts completely with two moles of HI to form X

and Y. When Y is boiled with aqueous alkali it forms Z. Z

answers the iodoform test . The compound (A) is:

A. propan - 2-ol

C3H8O

https://dl.doubtnut.com/l/_YQxZamn2IkUL
https://dl.doubtnut.com/l/_iGqOTCdazrOK


B. propan-1-ol

C. ethoxy ethane

D. methoxy ethane

Answer: D

View Text Solution

6. Among the following ethers which one willl produce

methyl alcohol on treatment with hot HI?

A. 

B. 

C. 

(H3C)3 − C − O − CH3

(CH3 − )2 − CH − CH2 − O − CH3

CH3 − ( − CH2 − ) − O − CH3

https://dl.doubtnut.com/l/_iGqOTCdazrOK
https://dl.doubtnut.com/l/_SDqQV0aCfhzT


D. 

Answer: A

View Text Solution

CH3 − CH2 − CH
∣

CH3

− O − CH3

7. Williamson synthsis of preparing dimethyl etther is a / an

/ :

A. 1 reactions

B. 2 reactions

C. electrophilic addition

D. electrophilic substitution

Answer: B

SN

SN

https://dl.doubtnut.com/l/_SDqQV0aCfhzT
https://dl.doubtnut.com/l/_kCAnR5Hm4gKX


Evaluation Textbook Questions Answers Answer The Following

Questions

View Text Solution

8. One reacting with neutral ferric chloride,phenol gives:

A. red colour

B. violet colour

C. dark green colour

D. no colouration

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_kCAnR5Hm4gKX
https://dl.doubtnut.com/l/_p9wignX2Z2k5


1. Identify the product (s) is / are formed when 1-methoxy

propare is heated with excess HI. Name the mechanism

involved in the reaction.

View Text Solution

2. Draw the major product formed when 1-ethoxyprop-1-ene

is heated with one equivalent of HI.

View Text Solution

3. Suggest a suitable reagent to prepare secondary alcohol

with identical group using Grignard reagent.

View Text Solution

https://dl.doubtnut.com/l/_iaEVK47kmJ9f
https://dl.doubtnut.com/l/_rKqxIzaZtZa2
https://dl.doubtnut.com/l/_f0rfQmM0Tb7Z


4. What is the major product obtained when two moles of

ethyl magnesium bromide is treated with mehtyl benzoate

followed by acid hydrolysis.

View Text Solution

5. Predict the major product, when 2-methyl but -2-ene is

converted into an alcohol in each of the following methods.

Acid catalysed hydration 

(II) Hydroboration , 

(iii) Hydroxylation using bayers reagent.

View Text Solution

https://dl.doubtnut.com/l/_f0rfQmM0Tb7Z
https://dl.doubtnut.com/l/_F2c5IExFnPo7
https://dl.doubtnut.com/l/_tOX17WWJopSh
https://dl.doubtnut.com/l/_4Mu3ZT0HbCTt


6. Arrange the following in the increasing order of their

boiling point and give a reason for your ordering 

(i) Butan-2-ol Butan -1-ol,2 -methylpropan -2-ol 

(ii) Propan-1-ol , propan -1,2,3 triol, propan -1-3,diol, propan-1-

ol

View Text Solution

7. Can we use nucleophiles such as  for the

Nucleophilic substitution of alcohols.

View Text Solution

NH3, CH3O

8. Is it possible to oxidise t-butyl alcohol using acidified

dichromate to form a carbonyl compound.

https://dl.doubtnut.com/l/_4Mu3ZT0HbCTt
https://dl.doubtnut.com/l/_MQNCJDpaM6Gr
https://dl.doubtnut.com/l/_fx86b0N7q7HJ


View Text Solution

9. What happens when 1-phenyl ethanol is treated with

acidified 

View Text Solution

KMnO4

10. Write the mechanism of acid catalysed dehydration of

ethanol to give ethane.

View Text Solution

11. How is phenol prepared form (i) chloro benzene , (ii)

isopropyl benzene,

https://dl.doubtnut.com/l/_fx86b0N7q7HJ
https://dl.doubtnut.com/l/_TKtSalfJgelK
https://dl.doubtnut.com/l/_TrUGCF3C3U3n
https://dl.doubtnut.com/l/_ZUiQZWZBHCn7


View Text Solution

12. Explain Kolbe's reaction

View Text Solution

13. Write the chemical equation of Williamson synthesis of

2-ethoxy-2-methyl pentane starting form ethanol and 2-

methyl pentan-2-ol.

View Text Solution

14. Write the structure of the aldehyde carboxylic acid and

ester that yield 4-methylpent-2-en-1-ol.

https://dl.doubtnut.com/l/_ZUiQZWZBHCn7
https://dl.doubtnut.com/l/_BtS2IWCbD8ah
https://dl.doubtnut.com/l/_NSW1AXNnrVUK
https://dl.doubtnut.com/l/_AeRQz9VsYAJA


View Text Solution

15. What is metamerism ? Give the structure and IUPAC

name of metamers of 2- methoxy propane.

View Text Solution

16. How are the following conversions effected 

(i) benzyl chloride to benzyl alcohol, 

(ii) benzyl alcohol to benzoic acid.

View Text Solution

https://dl.doubtnut.com/l/_AeRQz9VsYAJA
https://dl.doubtnut.com/l/_LNNlWcbltemE
https://dl.doubtnut.com/l/_vNpqwatTqk6M


17. Complete the following reactions. 

(i)  


(ii) .


(iii) Arisole  

View Text Solution

CH3 − CH2 − OH
PBr2

−−→ A
aq .NaOH

−−−−−→ B
Na

−−→ C.

C6H5 − OH
Zn dust
−−−→ A

CH3Cl
−−−−−−−→
AnhydrsAlCl3

B
acidKMnO4

−−−−−−→ C

t-butylchloride
−−−−−−−−→

AlCl3

A
Cl2 /FeCl3
−−−−−−→ B

HBr
−−→ C.

18. 0.44 g of a monohydric alcohol when added to methyl

magesium iodide in ether liberates at STP  of

methane molecular weight 88 with PCC the same alcohol

form a carbonyl compound that answers silver mirror test.

Identify the compound.

View Text Solution

112cm3

https://dl.doubtnut.com/l/_vqmYbRg8g9Hi
https://dl.doubtnut.com/l/_OPrUWTLU6MI6


19. Complete the following reactions 

(i)  

(ii)  major product

View Text Solution

C6H5CHCH(OH)CH(CH3)2

conc
−−−→
H2SO4

20. Phenol is distilled with Zn dust followed by Friedel-

carfts alkylation with propyl chloride to give a compund B,B

on oxidation gives C. Identify A,B and C.

View Text Solution

21. 

View Text Solution

https://dl.doubtnut.com/l/_OPrUWTLU6MI6
https://dl.doubtnut.com/l/_3WqJLoT7TBj6
https://dl.doubtnut.com/l/_HjYWmGIj8qp2
https://dl.doubtnut.com/l/_iFxOok9rwzEp


View Text Solution

22. What will be the product (X and A) for the following

reaction acetylchloride  A, Identify X

and A.

View Text Solution

( i )CH3MgBr
−−−−−−−−→

( ii )H3O+
X

acid
−−−−→
K2Cr2O7

23. How will you convert acetylene into n-butyl alcohol.

View Text Solution

24. Predict the product A,B X and Y in the following

sequence of reaction , butan-2-ol
⏐
⏐
⏐
↓
X

 Cu / 573K

SOCl2
−−−→ A

Mg
−−→
ether

B
↓x
Y

https://dl.doubtnut.com/l/_iFxOok9rwzEp
https://dl.doubtnut.com/l/_7vIWIwhwSaAR
https://dl.doubtnut.com/l/_iP3LiNc9Xsmx
https://dl.doubtnut.com/l/_dsl7FWtb7c4g


Other Important Questions Answers Choose The Correct

Answer

View Text Solution

25. 3,3 -dimethylbutan-2-ol on treatment with conc. 

to give tetramethyl ethylene as a major product. Suggest a

suitable mechnaisms.

View Text Solution

H2SO4

1. Arrange the following compounds in invreasing order of

boiling point : 

I-propan-1-ol 

II-butan-1-ol 

https://dl.doubtnut.com/l/_dsl7FWtb7c4g
https://dl.doubtnut.com/l/_Y6ZNPact8Idc
https://dl.doubtnut.com/l/_THQ2JabkmIAV


III butan-2-ol 

IV- pentan-1-ol 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

I, III, II, IV

I, II, III, IV

IV , III, II, I

IV , II, III, I

2. Acid catalysed hyderation of alkenes except etherne ,

leads to the formation of

https://dl.doubtnut.com/l/_THQ2JabkmIAV
https://dl.doubtnut.com/l/_AUBKNAmCgMPG


A. primary alcohol.

B. secondary of tertiary alcohol

C. a mixture of primary and secondary alcohol.

D. a mixture of secondary and tertiary alcohol.

Answer:

View Text Solution

3. Which of the following Grignard reagent is suitable for

the preparation of 3-methyl-2-butanol ?

A. 2-butanone + methylmaganesium bromide

B. Acetone + ethyl magnesium bromide

C. Acetaldeyde + isopropyl magnesium bromide

https://dl.doubtnut.com/l/_AUBKNAmCgMPG
https://dl.doubtnut.com/l/_rd41ygRTI9fm


D. Ethyl propionate + methyl magnesium bromide

Answer:

View Text Solution

4. Which of the following esters shown, after reduction

with  and aquesou workup, will yield two molecules

of only a single alcohol ?

A. 

B. 

C. 

D. 

LiAlH4

C6H5COOC6H5

CH3CH2COOCH2CH3

CH3COOCH3

C6H5COOCH2C6H5

https://dl.doubtnut.com/l/_rd41ygRTI9fm
https://dl.doubtnut.com/l/_10WOp1DsUh8b


Answer:

View Text Solution

5. Which of the following will exhibit highest boiling point ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

CH3CH2OCH2CH3

CH3CH2CH2CH2CH2OH

CH3CH2CH2 C
∣

OH

H − CH3

CH3 − CH2 − −
CH2

C
∣

OH

(CH3)2

https://dl.doubtnut.com/l/_10WOp1DsUh8b
https://dl.doubtnut.com/l/_vA3ssXFkIAZ8
https://dl.doubtnut.com/l/_64SMHZ2fp1mG


6.  which of

the following compounds will be formed ?

A.  and I

B. 

C. 

D. 

Answer:

View Text Solution

CH3

CH3

∣

C H. CH2 − O − CH2CH3 + HI
Δ

−−→

CH3 C
∣

CH3

H − CH2OH CH3CH2

CH3

CH3

∣

C H − CH2 and CH3CH2OH

CH3 C
∣

CH3

HCH3 and CH3CH2OH

CH3 C
∣

CH3

HCH2OH and CH3CH3

7. The reaction of  With RMgX leads to the formation of

https://dl.doubtnut.com/l/_64SMHZ2fp1mG
https://dl.doubtnut.com/l/_Anje8FtcwACz


A. 

B. 

C. 

D. 

Answer:

View Text Solution

RC
∣

OH

HR

RC
∣

OH

HCH3

R2CHCH2OH

RCH2CH2OH

8. Phenol  2,4,6- Tribromophenol. X is

A. bromine is benzene

B. bromine in water

C. potassium bromide solution

x
−−→

https://dl.doubtnut.com/l/_Anje8FtcwACz
https://dl.doubtnut.com/l/_OmdGDaLiKh2d


D. bromine in 

Answer:

View Text Solution

CCl4at0
∘C

9. Phenol can be distinguished from ethanol by the

following reagent except.

A. sodium

B. 

C. neutral 

D. 

Answer:

I2 /NaOH

FeCl3

Bra2 /H2O

https://dl.doubtnut.com/l/_OmdGDaLiKh2d
https://dl.doubtnut.com/l/_JY3fZmqkPowh


View Text Solution

10. Mark the correct increasing order of reactivity of the

following compounds with HBr /HI. 

A. 

B. 

C. 

D. 

Answer:

View Text Solution

I < II < III

II < I < III

II < III < I

III < II < I

https://dl.doubtnut.com/l/_JY3fZmqkPowh
https://dl.doubtnut.com/l/_eO9tJqVxuUvT


11. Which of the following reagents can be used to oxidise

primary alcohols to aldehyder ? 

1.  in acidic medium,  is acidic medium, 3.

Pyridinium chlorochromate, 4. Heat in the presence of Cu at

573 K.

A. 1,3,4

B. 1,3

C. 1,4

D. none to the above

Answer:

View Text Solution

CrO3 2KNnO4

https://dl.doubtnut.com/l/_gtqFEvmaQiCE
https://dl.doubtnut.com/l/_jLzie8mFcFO2


12. Assertion : Bond angles in ethers is slightly more than

the tetrahedral angle. 

Reason: There are repulsions between two bulky R groups

A. Assertion and reason both are correct and reason is

the correct explanation of assertion.

B. Assertoin and reason both are correct, but reason is

not the correct explanation of assetion.

C. Assertion and reason both are correct, but reason is

not the correct explanation of assertion.

D. Both assertion and reason are wrong .

Answer:

View Text Solution

https://dl.doubtnut.com/l/_jLzie8mFcFO2


13. In the following sequence of reactions,

Z is

A. 

B. 

C. 

D. 

Answer:

View Text Solution

Z
PCl5
−−→ X

alc .KOH
−−−−−→ Y

( i ) conc .H2SO4

−−−−−−−−−→
( ii )H2O ,boil

CH3CH2(OH)CH3

CH3CH(OH)CH3

CH3CH2CH2CH2OH

(CH3)
3
CCH2OH

14. Consider the following reaction : 

 Ethanol
PCl3
−−→ X

alc
−−→
KOH

Y
H2SO4
−−−→
H2O

Z

https://dl.doubtnut.com/l/_ZLHmIRGgSW0X
https://dl.doubtnut.com/l/_034NtWgWL97F


The compound Z is

A. 

B. 

C. 

D. 

Answer:

View Text Solution

CH3CH2OCH2CH3

CH3CH2OSO3H

CH3CH2OH

CH2 = CH2

15. The red coloured compound formed during Victor-

Meyer's test is :

A. CH3 − C
∣ ∣

NOH

− NO2
−Na+

https://dl.doubtnut.com/l/_034NtWgWL97F
https://dl.doubtnut.com/l/_zuMWkXQRxvKt


B. 

C. 

D. 

Answer:

View Text Solution

CH3 − C − NO2

          ∣∣

         N − O−Na+

CH3CH = CHNOH

CH3CH2NHOH

16. Following compounds are given 

(i)  

(ii)  


(iii) 


(iv)  


CH3CH2OH

CH3COCH3

CH3CH(OH)CH3

CH3OH

https://dl.doubtnut.com/l/_zuMWkXQRxvKt
https://dl.doubtnut.com/l/_v7Bkq1ldDOzK


Other Important Questions Answers Answer The Following

Questions

Which of the above compounds on being warmed with

iodine solution and  will give iodoform ?

A. (i), (iii) and (iv)

B. only (i)

C. (i),(ii) and (iii)

D. (i) and (ii)

Answer:

View Text Solution

NaOH

https://dl.doubtnut.com/l/_v7Bkq1ldDOzK


1. Classify the following as primary,secondary and tertiary

alcohols. 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi) 

CH3 −
CH3

C
CH3

− CH3OH3

H2C = CH. CH2OH,

CH3CH2CH2OH

CH3CH2CH2OH

https://dl.doubtnut.com/l/_kDoH6tVA4IxX


View Text Solution

2. Identify allyl alcohos in the above (Q.No.1) examples.

View Text Solution

3. Name of the following compounds according to IUPAC

system:

View Text Solution

4. Write IUPAC names of the following .

View Text Solution

https://dl.doubtnut.com/l/_kDoH6tVA4IxX
https://dl.doubtnut.com/l/_jliAIXjUVTwz
https://dl.doubtnut.com/l/_TfnqmskjArTk
https://dl.doubtnut.com/l/_raAaRXPtU6Bu
https://dl.doubtnut.com/l/_Mq2j3gPJDIS8


5. Write the structure of the compounds whose IUPAC

names are as follows:

View Text Solution

6. Complete the following reactions: 

(i)  





 





(vi) 


CH3C
∣

Br

H − CH2CH3

aq .NaOH
−−−−−→

(ii)CH2CH2 C
∣

CH3

HCH2Br
aq .NaOH

−−−−−→

(iii)CH3 −

CH3

∣

C = CH3
H3SO4

−−−→
H +

(iv)2CH3CH2CH = CH2 =
( i )B2H6

−−−−−−−−→
( ii )H2O /H +

(v)CH3CH2COCH3

Na/EtOH
−−−−−−→

CH3

CH3

∣

C HCOOH
LiAlH2

−−−→

(vii)CH3CH2CH2COOCH3 + 4[H]
Na/alc
−−−−→

https://dl.doubtnut.com/l/_Mq2j3gPJDIS8
https://dl.doubtnut.com/l/_agUbdMRJvl1N


View Text Solution

7. Using suitable Grignard reagent and a carbonyl

compound,how will you prepare (i) Phenyl methanol, (ii)

butan-2-ol (iii) 2-methlhexan-2-ol (iv) propan-2-ol

View Text Solution

8. Give equation for the preparation of 2-methyl-2-propanol

using a suitable Grignard reagent and a carbonyl

compound.

View Text Solution

https://dl.doubtnut.com/l/_agUbdMRJvl1N
https://dl.doubtnut.com/l/_jUQjrvTWNxKk
https://dl.doubtnut.com/l/_CBoISdZkK8W3


9. Name the reducing agents that will convert a carbonyl

compound to an alcohol.Give an example for each.

View Text Solution

10. Why is  is used to reduce crotonaldehyde ?

View Text Solution

LiAlH4

11. Name the product formed when sodium borohydride is

used a reducing agent for the reduction of a compound

containing both carbonyl and carboxyl group.(or) Identify

the product.

View Text Solution

https://dl.doubtnut.com/l/_IvnyN1lHn1CC
https://dl.doubtnut.com/l/_WmFuYitl7e02
https://dl.doubtnut.com/l/_C5wpg4W8PXuR


12. Complete the following reactions.: 

(i)  


(ii)  


(iii)  


(iv) 

View Text Solution

CH2 = CH2

cold alkaline
−−−−−−→
KMnO4

C
∣

CH2OH

H2OH
Na

−−→

O
CH2

HC
∣
H2OH

PCl5
−−→

O
CH2

HC
∣
H2OH

CH2COOH
−−−−−−→

H +

13. How is glycerol prepared from triglycerides of fats ?

View Text Solution

https://dl.doubtnut.com/l/_C5wpg4W8PXuR
https://dl.doubtnut.com/l/_ZKDRQw4d69Jd
https://dl.doubtnut.com/l/_7A8eJwxfkvVj


14. Complete the following equations: 

(i)  


(ii)  


(iii) 

View Text Solution

CH3CH2OH + HCl
anhy .ZnCl2
−−−−−−→

CH3undeset(OH)C
∣
HCH3 + HCl

anhy .ZnCl2
−−−−−−→

CH3 −

CH3

∣

C
∣

CH3

− OH + HCl
anhy .ZnCl2
−−−−−−→

15. Give mechanism of reaction between alcohols and

halogen acids.

View Text Solution

https://dl.doubtnut.com/l/_UrMDZEL5gboR
https://dl.doubtnut.com/l/_MUebTFPnZi2X


16. How will you distinguish between 




 and tert-butyl alcohol.

View Text Solution

CH3CH2OH and CH3 C
∣

OH

HCH3

(ii)CH3 C
∣

OH

HCH3

17. Give the structures of the products you would expect

when each of the following alcohol reacts with

 (i) Butan-1-ol and (ii)

2-methylbutan-2-ol .

View Text Solution

(a)HCl − ZnCl2, (b)HBr(c)SOCl2

https://dl.doubtnut.com/l/_EZJkNopKGmJE
https://dl.doubtnut.com/l/_OiujntHlX6MK


18. Arrange the following compounds in increasing order of

boiling points pentan-1-ol,butan-1-ol butan-2-ol

ehtanol,propan-1-ol, methano. Give reason for your answer.

View Text Solution

19. Explain why propanol has higher boiling point than that

of hydrocarbon butan ?

View Text Solution

20. Write the mechanism of the reaction 

 
CH3

CH3

∣

C
∣

CH3

− OH + HBr → CH3 − C
∣

CH3

= CH2

https://dl.doubtnut.com/l/_FRfzgnOzg2D2
https://dl.doubtnut.com/l/_sYBNp7OOge80
https://dl.doubtnut.com/l/_rYS8FOrZMwS8


The reaction follows  mechanism.

View Text Solution

SN1

21. Give mechanism for the formation of prop-1-ene from

propan-1-ol

View Text Solution

22. State Saytzeff rule.

View Text Solution

23. Name the reagents in the following reactions: 

(i) oxidation of primary alcohol to a carboxylic acid.

https://dl.doubtnut.com/l/_rYS8FOrZMwS8
https://dl.doubtnut.com/l/_BZ0HrO7m0AcA
https://dl.doubtnut.com/l/_ad4Wy7L5Xnbh
https://dl.doubtnut.com/l/_c2u6Y2EJklg0


(ii) oxidation of a primary alcoho to an aldehyde. 

(iii) benzyl alcohol to benzoic acid.

(iv) butan-2-one to butan -2-ol.

View Text Solution

24. What happen when, 

(i) Vapours of ethanol is passed over heated copper at 573

K . 

(ii) Vapours of propan-2-ol is passed over heated copper at

573 K. 

(iii) Vapours of 2-methyl propan-2-ol is passed over heated

copper at 573 K. Give equation.

View Text Solution

https://dl.doubtnut.com/l/_c2u6Y2EJklg0
https://dl.doubtnut.com/l/_dcg0LYHEs7tv
https://dl.doubtnut.com/l/_nt7fwWUOaRbL


25. What is nitroglycerine ? How it is formed ? Give

equation.

View Text Solution

26. How is acrolein formed from glycerol ?

View Text Solution

27. Mention the cuase for acidic nature of alcohols.

View Text Solution

https://dl.doubtnut.com/l/_nt7fwWUOaRbL
https://dl.doubtnut.com/l/_9Y0D8dwNxVfC
https://dl.doubtnut.com/l/_Og3q6f6rE3Pe


28. Mention the uses of (i) methanol, (ii) ethanol (iii)

ethylene glycol, (iv) glycerol.

View Text Solution

29. Alcohols are easily protonated in comparison to

phenols. Explain why.

View Text Solution

30. Identify the major product obtained in the following

reaction: 2,3, dimethyl butan-2-ol 

View Text Solution

conc
−−−→
H2SO4

https://dl.doubtnut.com/l/_VdKXehfAuQ6N
https://dl.doubtnut.com/l/_tGADCqFR7Qz5
https://dl.doubtnut.com/l/_zFeBHT49QtM1
https://dl.doubtnut.com/l/_iKegHU5hrj2H


31. Identify the product of the reaction:

View Text Solution

CH3

CH3

∣

C
∣

CH3

− CH2 − Br
C2H5OH
−−−−→

Δ

32. Show how 2-methyl propan-1-ol is prepared by the

reaction of suitable Grignard reagent.

View Text Solution

CH3 − C
∣
H − CH2OH

33. Write structure of the products of the following

reactions. 

https://dl.doubtnut.com/l/_iKegHU5hrj2H
https://dl.doubtnut.com/l/_Wk0goM6hQhVQ
https://dl.doubtnut.com/l/_DLlUrEmyGBGP


(i)  


 


View Text Solution

CH3CH = CH2

H2O/H +

−−−−−→

CH3CH2 C
∣

CH3

HCHO

NaBH4

NaBH4

−−−→

34. What is esterification ? Give and example.

View Text Solution

35. Why are alcohols are weaker acids than water ?

View Text Solution

https://dl.doubtnut.com/l/_DLlUrEmyGBGP
https://dl.doubtnut.com/l/_tehyOxaAFh8X
https://dl.doubtnut.com/l/_5bfMtO9rmEXw


36. The acidic nature of alcohols is in the order  alcohol 

 alcohol  alcohol. Explain.

View Text Solution

1∘

> 2∘ > 3∘

37. Arrange the following compounds in the increasing

order against each. 

(i)  


(acid strength) 

(ii) 2-methyl-2-propanol,1-butanol,2-butanol 

(reactivity towards sodium)

View Text Solution

CH3CH2OH, CF3CH2OH, CCl3CH2OH

https://dl.doubtnut.com/l/_5bfMtO9rmEXw
https://dl.doubtnut.com/l/_7B4eDZ7f8qV8
https://dl.doubtnut.com/l/_5kPvrDvHYYwT
https://dl.doubtnut.com/l/_02YTW7prFMyS


38. How will you convert phenol to (i) benzene (ii), aniline ,

(iii) phenyl acetate, (iv) phenyl benzoate ,(v) anisole.

View Text Solution

https://dl.doubtnut.com/l/_02YTW7prFMyS


39. Indentify A and B in the following : 

View Text Solution

40. What is picric acid ? How it is prepared ?

https://dl.doubtnut.com/l/_8ggw3aUkVH1K
https://dl.doubtnut.com/l/_4AZSarDllIIk


View Text Solution

41. Give equation for the following (i) nitration of phenol ,

(ii) sulphonation of phenol, (iii) nitrosation of phenol.

View Text Solution

42. What happens when phenol is treated with (i) acidified

potassium dichromate, (ii) hydrogen in the presence of

nickel as catalyst, (iii) bromine water, (iv) bromine in the

presence of 

View Text Solution

CCl24

https://dl.doubtnut.com/l/_4AZSarDllIIk
https://dl.doubtnut.com/l/_apyWWszhZ7P7
https://dl.doubtnut.com/l/_81EmNg3qHLMG


43. Explain why the phenolic group is ortho para directing .

View Text Solution

44. Write a short note on Reimer-Tiemann reaction .

View Text Solution

45. How will you distinguish between alcohol and phenol ?

View Text Solution

46. Mention the uses of phenol.

View Text Solution

https://dl.doubtnut.com/l/_OT1JPXDEocwh
https://dl.doubtnut.com/l/_16lUcmhSoa6C
https://dl.doubtnut.com/l/_L7PUJTfIGOxJ
https://dl.doubtnut.com/l/_iBidSNhWyrwL


47. Give the IUPAC name of the following ethers . 

(i) .


(ii)  


(iii)  


C2H5OCH2 C
∣

CH3

HCH3

CH3 − O − CH2CH2Cl

O2N − C6H4 − OCH3

https://dl.doubtnut.com/l/_iBidSNhWyrwL
https://dl.doubtnut.com/l/_w8nzDdp7TQ0a


(iv)  


View Text Solution

CH3CH2CH2OCH3

https://dl.doubtnut.com/l/_w8nzDdp7TQ0a


48. Ethers are soluble in water . Give reason.

View Text Solution

49. Write the names of reagents and equations for the

preparation of the following ethers by Williamson's

synthesis. 

(i) 1-propoxypropane 

(ii) Ethoxy benzene 

(iii) 2-methyl-1-2 methoxy propane 

(iv) 1-methoxyethane

View Text Solution

https://dl.doubtnut.com/l/_Ibunq4GJDMHw
https://dl.doubtnut.com/l/_BCfsgkhGxPXG


50. Give the mechanism of the conversion of (i) ethanol to

ehoxyethane, (ii) dehydration of 1-propanol to 1- propoxy

propan.

View Text Solution

51. Explain why the boiling point of ehters are slightly

higher than that of alkanes and lower than that of alcohols

of comparable molecular mass.

View Text Solution

52. Mention the uses of (i) Diethyl ehter and (ii) Anisole.

Uses of Diethyl ehter.

https://dl.doubtnut.com/l/_JG5wBP95Hsxp
https://dl.doubtnut.com/l/_5SIZnnGw1BjV
https://dl.doubtnut.com/l/_RQ1oCFlIXMdk


View Text Solution

53. Discuss the mechanism of the reaction

View Text Solution

CH3OCH2CH3 + HI → CH3I + CH3CH2OH.

54. Explain why  in anisole group is orthopara

directing .

View Text Solution

OCH3

55. Briefly account of dipolar nature of C-O bonds in ethers .

View Text Solution

https://dl.doubtnut.com/l/_RQ1oCFlIXMdk
https://dl.doubtnut.com/l/_V4VG6XaV0DEe
https://dl.doubtnut.com/l/_vbg0RvCAuifg
https://dl.doubtnut.com/l/_rb5cCKOhvSiu


56. Give equation for the reaction between diethyl ether

with excess of oxygen.

View Text Solution

57. Give examples for (i) phthalein fusion and (ii) coupling

reaction

View Text Solution

https://dl.doubtnut.com/l/_rb5cCKOhvSiu
https://dl.doubtnut.com/l/_ZdXkd5LMsnHW
https://dl.doubtnut.com/l/_cgRgl17L1bdD

